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QUESTION 1

Given the JAD file fragment: 

MIDlet-1: Calendar, calendar.png, com.example.CalendarMIDlet 

MIDlet-2: Chat, chat.png, com.example.ChatMIDlet 

What CalendarMIDlet code launches ChatMIDlet at the time specified by variable chatTime? 

A. PushRegistry.registerAlarm("Chat", chatTime); 

B. PushRegistry.registerAlarm ("com.example.ChatMIDlet", chatTime); 

C. PushRegistry.registerAlarm("MIDlet-1", chatTime); 

D. PushRegistry.registerAlarm (Class.forName("com.example.ChatMIDlet"), chatTime); 

Correct Answer: B 

 

 

QUESTION 2

Click the Task button. 

Place the classes and methods in the correct positions. 

Select and Place: 
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Correct Answer: 
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QUESTION 3

Which three are defined as user interaction permission modes? (Choose three.) 

A. global 

B. session 

C. oneshot 

D. application 

E. blanket 

Correct Answer: BCE 

 

QUESTION 4

Click the Exhibit button. 

The method in the Exhibit must create an HTTP GET connection that works reading both of the following HTTP server
response cases: 

HTTP server response headers n.1 

1.

 HTTP/1.1 200 OK 

2.

 Server: MyServer/1.3.0 

3.

 Content-Length: 3245 

4.

 Content-Type: text/html 

HTTP server response headers n.2 

1.

 HTTP/1.1 200 OK 

2.

 Server: MyServer/1.3.0 

3.

 Content-Type: text/html 

Latest 1Z0-869 Dumps | 1Z0-869 PDF Dumps | 1Z0-869 Study Guide                                4 / 7

https://www.pass4itsure.com/1z0-869.html
https://www.pass4itsure.com/1z0-869.html
https://www.pass4itsure.com/1z0-869.html


https://www.pass4itsure.com/1z0-869.html
2024 Latest pass4itsure 1Z0-869 PDF and VCE dumps Download

Which two can be used in the fragment of code starting at line 12? (Choose two.) 

A. 12. int ch; 

13.

 while ((ch = is.read()) != -1) { 

14.

 //... 

20. } 

B. 12. int ch; 

13.

 while ((ch = is.read()) == -1) { 

14.

 //... 

20. } 

C. 12. if (len > 0) { 

13.

 byte[] data = new byte[len]; 

14.

 int actual = is.read(data); 
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15.

 //... 

20.

 } else { 

21.

 int ch; 

22.

 while ((ch = is.read()) != -1) { 

23.

 //... 

examollectionvce.com Leaders in IT Certification 153 

30.

 } 

31.

 } 

D. 12. byte[] data = new byte[len]; 

13. int actual = is.read(data); 

Correct Answer: AC 

 

 

QUESTION 5

Given a MIDlet that specifies a push registration in the JAD file as: 

MIDlet-Push-1: socket://:79, com.sun.example.SampleChat, * 

What is the result when the MIDlet is installed onto a device where another MIDlet has already registered the exact
same push connection in the PushRegistry? 

A. The connection can only apply to the currently running MIDlet. 
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B. The MIDlet installs and overwrites any existing push registrations. 

C. The MIDlet installation is aborted and the user is notified of the problem. 

D. The MIDlet installs, but the connection CANNOT be used. 

E. The MIDlet installs, but the MIDlet must register the connection dynamically. 

Correct Answer: C 
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